

---

## The modified Exp-function method and its applications to the generalized K(n,n) and BBM equations with variable coefficients

E. M. E. Zayed\* and M. A. M. Abdelaziz

Mathematics Department, Faculty of Science, Zagazig University, Zagazig, Egypt  
E-mail: [e.m.e.zayed@hotmail.com](mailto:e.m.e.zayed@hotmail.com) & [mamabdelaziz@hotmail.com](mailto:mamabdelaziz@hotmail.com)

---

### Abstract

In this article, the modified exp-function method is used to construct many exact solutions to the nonlinear generalized K(n,n) and BBM equations with variable coefficients. Under different parameter conditions, explicit formulas for some new exact solutions are successfully obtained. The proposed solutions are found to be important for the explanation of some practical physical problems.

**Keywords:** Generalized K(n,n) equation with variable coefficients; generalized BBM equation with variable coefficients; exact traveling wave solutions; Exp-function method

---

### 1. Introduction

In the nonlinear science, many important phenomena in various fields can be described by the nonlinear evolution equations (NLEEs). Searching for exact soliton solutions of NLEEs plays an important and significant role in the study on the dynamics of those phenomena. With the development of soliton theory, many powerful methods for obtaining the exact solutions of NLEEs have been presented, such as the extended tanh-function method [1-5], the tanh-sech method [6-8], the sine-cosine method [9-11], the homogeneous balance method [12, 13], the exp-function method [14-17], the Jacobi elliptic function method [18-21], the F-expansion method [22], the homotopy perturbation method [23, 24], the variational iteration method [25], the inverse scattering transformation method [26], the Bäcklund transformation method [27], the Hirota bilinear method [28, 29] and so on. To our knowledge, most of the aforementioned methods are related to constant coefficients models. Recently, much attention has been paid to the variable-coefficient nonlinear equations which can describe many nonlinear phenomena more realistically than their constant-coefficient ones.

The objective of this article is to apply the modified exp-function method using a generalized wave transformation to find the exact solutions of the following two nonlinear dispersive equations with variable coefficients:

1. The generalized K(n,n) equation with variable coefficients [30]

$$u_t + a(t)u_x + b(t)(u^n)_x + k(t)(u^n)_{xxx} = 0, \quad n \neq 0, 1 \quad (1)$$

where  $a(t)$ ,  $b(t)$  and  $k(t)$  are nonzero functions of  $t$ . As a model that characterizes long waves in nonlinear dispersive media, Eq. (1) was formally derived to describe the propagation of surface water waves in a uniform channel. Now it has been established that the equation provides a model for not only the surface waves of long wavelength in liquids, but also hydromagnetic waves in cold plasma, acoustic waves in anharmonic crystals, and acoustic gravity waves in compressible fluids. Eq. (1) has been discussed by Wazwaz [31] using sine-cosine method and tanh-method when the functions  $a(t)$ ,  $b(t)$  and  $k(t)$  are nonzero constants.

2. The generalized Benjamin-Bona-Mahony (BBM) equation with variable coefficients [30]

$$u_t + a(t)u_x + b(t)(u^n)_x + k(t)(u^n)_{xxt} = 0, \quad n \neq 0, 1 \quad (2)$$

where  $a(t)$ ,  $b(t)$  and  $k(t)$  all are nonzero functions of  $t$ . The case  $n = 1$  with constant coefficients when  $a(t)=b(t)=k(t)=1$  corresponds to the BBM equation, which was first proposed by Benjamin et al. [32]. Eq. (2) is an alternative to Eq. (1), and also describes the unidirectional propagation of small-amplitude long waves on the surface of water in a channel. This equation is not only convenient for shallow water waves but also for hydromagnetic

---

\*Corresponding author

and acoustic waves, and therefore it has some advantages compared with the KdV equation. When  $n = 2$ , Eq. (1) is called the modified BBM equation. Lv et al [30] have discussed Eqs. (1) and (2) using the auxiliary differential equation method and obtained various exact traveling wave solutions.

## 2. Description of the modified exp-function method

To illustrate the basic idea of exp-function method the following nonlinear evolution equations are considered:

$$\phi(u, u_t, u_x, u_{xt}, u_{tt}, u_{xx}, \dots) = 0. \quad (3)$$

Where  $u=u(x,t)$  is an unknown function,  $\phi$  is a polynomial in  $u$  and its partial derivatives in which the highest order derivatives and nonlinear terms are involved. In the following, we give the main steps of this method:

**Step 1.** Using the generalized wave transformation

$$u(x,t) = u(\xi), \quad \xi = hx + \int \tau(t) dt, \quad (4)$$

where  $h$  is a constant, while  $\tau(t)$  is an integrable function of  $t$  to be determined. Then, Eq. (3) is reduced to the following ODE:

$$P(u, \tau(t)u', hu', \tau(t)^2 u'', h^2 u''', h\tau(t)u'', \dots) = 0, \quad (5)$$

where  $' = \frac{d}{d\xi}$  and  $P$  is a polynomial in  $u$  and its total derivatives.

**Step 2.** The exp-function method is based on the assumption that traveling wave solutions for Eq. (5) can be expressed in the following form

$$u(\xi) = \frac{\sum_{n=-c}^d a_n \exp(n\xi)}{\sum_{m=-p}^q b_m \exp(m\xi)}, \quad (6)$$

where  $c, d, p$  and  $q$  are positive integers which are unknown to be determined later,  $a_n$  and  $b_m$  are unknown constants. Eq. (6) can be written in the form

$$u(\xi) = \frac{a_c \exp(c\xi) + \dots + a_{-d} \exp(-d\xi)}{a_p \exp(p\xi) + \dots + a_{-q} \exp(-d\xi)}, \quad (7)$$

**Step 3.** Determine the values of  $c$  and  $p$  by balancing the linear term of highest order in Eq. (5) with the highest order nonlinear term. Similarly,

determine the values of  $d$  and  $q$  by balancing the linear term of lowest order in Eq. (5) with the lowest order nonlinear term.

**Step 4.** Substitute (7) into Eq. (5) and collect all terms with the same order of  $e^{n\xi}$  together, the left-hand side of Eq. (5) is converted into a polynomial in  $e^{n\xi}$ . Then set each coefficient of this polynomial to zero to derive a set of algebraic equations for  $a_i, b_j$ .

**Step 5.** Solve the algebraic system obtained in Step4 by the use of *Maple* or *Mathematica*. Then we can obtain the exact solutions of Eq. (3).

## 3. Application

In this section, the modified exp-function method is applied to construct the exact solutions of two nonlinear evolution equations with variable coefficients via the nonlinear generalized K(n,n) equation with variable coefficients (1) and the nonlinear generalized Benjamin-Bona-Mahony (BBM) equation with variable coefficients (2).

### 3.1. Example1. The generalized K(n,n) equation with variable coefficients

In order to obtain the exact solutions of Eq. (1), it is assumed that the solution of this equation can be written in the form

$$u(x,t) = [v(x,t)]^{\frac{-2}{n-1}}, \quad (8)$$

Substituting (8) into (1), we have

$$\begin{aligned} & (n-1)^2 [v^4(\xi)v_t(\xi) + a(t)v^4(\xi)v_x(\xi)] \\ & + 2n(6n^2 - 5n + 1)k(t)[v_x(\xi)]^3 \\ & + n(n-1)^2 k(t)v^2(\xi)v_{xxx}(\xi) + n(n-1)^2 b(t)v^2(\xi)v_x(\xi) \\ & - 3n(n-1)(3n-1)k(t)v(\xi)v_x(\xi)v_{xx}(\xi) = 0. \quad (9) \end{aligned}$$

Using the generalized wave transformation (4), Eq. (9) converts to the nonlinear ODE:

$$\begin{aligned} & (n-1)^2 [\tau(t) + ha(t)]v^4(\xi)v'(\xi) \\ & + 2n(6n^2 - 5n + 1)h^3 k(t)[v'(\xi)]^3 \\ & - 3n(n-1)(3n-1)h^3 k(t)v(\xi)v'(\xi)v''(\xi) \\ & + n(n-1)^2 h^3 k(t)v^2(\xi)v'''(\xi) \\ & + n(n-1)^2 hb(t)v^2(\xi)v'(\xi) = 0. \quad (10) \end{aligned}$$

Using the ansatz (7), since there is no linear term in Eq. (10), in order to determine the values of  $c, d, p$  and  $q$ , we balance the nonlinear term of highest

order  $v^2(\xi)v'''(\xi)$  with the nonlinear term  $v^4(\xi)v'(\xi)$  as follows:

$$v^2(\xi)v'''(\xi) = \frac{c_1 \exp[(3c+7p)\xi] + \dots}{c_2 \exp[10p\xi] + \dots}, \quad (11)$$

$$v^4(\xi)v'(\xi) = \frac{c_3 \exp[(5c+5p)\xi] + \dots}{c_4 \exp[10p\xi] + \dots}, \quad (12)$$

where  $c_i$  are coefficients for simplicity. By balancing the highest order of exp-function in Eqs. (11) and (12), we have  $3c+7p=5c+5p$ , which leads to

$$p=c. \quad (13)$$

Similarly, from the ansatz (7), we have

$$v^2(\xi)v'''(\xi) = \frac{\dots + d_1 \exp[-(3d+7q)\xi]}{\dots + d_2 \exp[-10q\xi]}, \quad (14)$$

$$v^4(\xi)v'(\xi) = \frac{\dots + d_3 \exp[-(5d+5q)\xi]}{\dots + d_4 \exp[-10q\xi]}, \quad (15)$$

where  $d_i$  are coefficients for simplicity. By balancing the lowest order of exp-function in Eqs. (14) and (15), we have  $-(3d+7q)=-(5d+5q)$ , which leads to

$$d=q. \quad (16)$$

Choosing  $p=c=1$  and  $q=d=1$ , Eq. (7) becomes

$$v(\xi) = \frac{a_1 \exp(\xi) + a_0 + a_{-1} \exp(-\xi)}{b_1 \exp(\xi) + b_0 + b_{-1} \exp(-\xi)}. \quad (17)$$

Substituting Eq. (17) into Eq. (10), and by the help of *Maple*, we get

$$\frac{1}{A} \{ \alpha_{10} e^{10\xi} + \alpha_9 e^{9\xi} + \alpha_8 e^{8\xi} + \alpha_7 e^{7\xi} + \alpha_6 e^{6\xi} + \alpha_5 e^{5\xi} + \alpha_4 e^{4\xi} + \alpha_3 e^{3\xi} + \alpha_2 e^{2\xi} + \alpha_1 e^\xi + \alpha_0 \} = 0, \quad (18)$$

where

$$A = e^{5\xi} (b_1 e^\xi + b_0 + b_{-1} e^{-\xi})^6, \quad (19)$$

and  $\alpha_n$  are coefficients of  $e^{n\xi}$ . Equating all the coefficients of  $e^{n\xi}$  to zero, we obtain a system of algebraic equations which can be solved by the *Maple*, to obtain the following cases of solutions

### Case 1.

$$a_0 = a_0, a_1 = 0, a_{-1} = 0, b_0 = 0, b_1 = 0, b_{-1} = b_{-1},$$

$$\tau(t) = -h a(t), k(t) = \frac{-(n-1)^2 b(t)}{4 h^2 n^2},$$

$$a(t) = a(t), b(t) = b(t), \quad (20)$$

In this case, the exact solution of Eq. (1) has the form:

$$u(\xi) = \left( \frac{a_0 e^\xi}{b_{-1}} \right)^{\frac{-2}{n-1}}, \quad (21)$$

### Case 2.

$$a_0 = a_0, a_1 = 0, a_{-1} = 0, b_0 = 0, b_1 = b_1, b_{-1} = 0,$$

$$\tau(t) = -h a(t), k(t) = \frac{-(n-1)^2 b(t)}{4 h^2 n^2},$$

$$a(t) = a(t), b(t) = b(t), \quad (22)$$

In this case, the exact solution of Eq. (1) has the form:

$$u(\xi) = \left( \frac{a_0}{b_1 e^\xi} \right)^{\frac{-2}{n-1}}, \quad (23)$$

### Case 3.

$$a_0 = 0, a_1 = 0, a_{-1} = a_{-1}, b_0 = b_0, b_1 = 0, b_{-1} = 0,$$

$$\tau(t) = -h a(t), k(t) = \frac{-(n-1)^2 b(t)}{4 h^2 n^2},$$

$$a(t) = a(t), b(t) = b(t), \quad (24)$$

In this case, the exact solution of Eq. (1) has the form:

$$u(\xi) = \left( \frac{a_{-1} e^{-\xi}}{b_0} \right)^{\frac{-2}{n-1}}, \quad (25)$$

### Case 4.

$$a_0 = 0, a_1 = 0, a_{-1} = a_{-1}, b_0 = 0, b_1 = b_1, b_{-1} = 0,$$

$$\tau(t) = -h a(t), k(t) = \frac{-(n-1)^2 b(t)}{16 h^2 n^2},$$

$$a(t) = a(t), b(t) = b(t), \quad (26)$$

In this case, the exact solution of Eq. (1) has the form:

$$u(\xi) = \left( \frac{a_{-1}}{b_1 e^{2\xi}} \right)^{\frac{-2}{n-1}}, \quad (27)$$

**Case 5.**

$$a_0 = 0, a_1 = a_1, a_{-1} = 0, b_0 = 0, b_1 = 0, b_{-1} = b_{-1},$$

$$\tau(t) = -h a(t), k(t) = \frac{-(n-1)^2 b(t)}{16 h^2 n^2},$$

$$a(t) = a(t), b(t) = b(t), \quad (28)$$

In this case, the exact solution of Eq. (1) has the form:

$$u(\xi) = \left( \frac{a_1 e^{2\xi}}{b_{-1}} \right)^{\frac{-2}{n-1}}, \quad (29)$$

**Case 6.**

$$a_0 = 0, a_1 = a_1, a_{-1} = 0, b_0 = b_0, b_1 = 0, b_{-1} = 0,$$

$$\tau(t) = -h a(t), k(t) = \frac{-(n-1)^2 b(t)}{4 h^2 n^2},$$

$$a(t) = a(t), b(t) = b(t), \quad (30)$$

In this case, the exact solution of Eq. (1) has the form:

$$u(\xi) = \left( \frac{a_1 e^\xi}{b_0} \right)^{\frac{-2}{n-1}}, \quad (31)$$

**Case 7.**

$$a_0 = a_0, a_1 = 0, a_{-1} = a_{-1}, b_0 = b_0, b_1 = \frac{a_0 b_0}{a_{-1}}, b_{-1} = 0,$$

$$\tau(t) = -h a(t), k(t) = \frac{-(n-1)^2 b(t)}{4 h^2 n^2},$$

$$a(t) = a(t), b(t) = b(t), \quad (32)$$

In this case, the exact solution of Eq. (1) has the form:

$$u(\xi) = \left[ \frac{a_{-1} (a_0 + a_{-1} e^{-\xi})}{b_0 (a_{-1} + a_0 e^\xi)} \right]^{\frac{-2}{n-1}}, \quad (33)$$

**Case 8.**

$$a_0 = a_0, a_1 = a_1, a_{-1} = 0, b_0 = b_0, b_1 = 0, b_{-1} = \frac{a_0 b_0}{a_1},$$

$$\tau(t) = -h a(t), k(t) = \frac{-(n-1)^2 b(t)}{4 h^2 n^2},$$

$$a(t) = a(t), b(t) = b(t), \quad (34)$$

In this case, the exact solution of Eq. (1) has the form:

$$u(\xi) = \left[ \frac{a_1 (a_0 + a_1 e^\xi)}{b_0 (a_1 + a_0 e^{-\xi})} \right]^{\frac{-2}{n-1}}, \quad (35)$$

where  $\xi$  in the above cases 1-8 has the form

$$\xi = h \left[ x - \int a(t) dt \right]. \quad (36)$$

**Case 9.**

$$a_0 = a_0, a_1 = 0, a_{-1} = 0, b_0 = 0, b_1 = b_1, b_{-1} = b_{-1},$$

$$\tau(t) = \frac{-h [2 b_1 b_{-1} (n+1) b(t) + n a_0^2 a(t)]}{n a_0^2},$$

$$k(t) = \frac{-(n-1)^2 b(t)}{4 h^2 n^2}, a(t) = a(t), b(t) = b(t), \quad (37)$$

In this case, the exact solution of Eq. (1) has the form:

$$u(\xi) = \left( \frac{a_0}{b_1 e^\xi + b_{-1} e^{-\xi}} \right)^{\frac{-2}{n-1}}, \quad (38)$$

where

$$\xi = h \left\{ x - \int \frac{[2 b_1 b_{-1} (n+1) b(t) + n a_0^2 a(t)]}{n a_0^2} dt \right\}. \quad (39)$$

**3.2. Example2. The generalized BBM equation with variable coefficients**

In order to obtain the exact solutions of Eq. (2), we assume that the solution of this equation has the same form (8). Substituting (8) into (2), we have

$$(n-1)^2 [v^4(\xi) v_t(\xi) + a(t) v^4(\xi) v_x(\xi)]$$

$$+ 2n(6n^2 - 5n + 1) k(t) v_t(\xi) [v_x(\xi)]^2$$

$$- 2n(n-1)(3n-1) k(t) v(\xi) v_x(\xi) v_{xt}(\xi)$$

$$+ n(n-1)^2 k(t) v^2(\xi) v_{xx}(\xi) + n(n-1)^2 b(t) v^2(\xi) v_x(\xi)$$

$$- n(n-1)(3n-1) k(t) v(\xi) v_t(\xi) v_{xx}(\xi) = 0. \quad (40)$$

Using the generalized wave transformation (4), Eq. (40) converts to the nonlinear ODE:

$$(n-1)^2 [\tau(t) + h a(t)] v^4(\xi) v'(\xi)$$

$$+ 2n(6n^2 - 5n + 1) h^2 k(t) \tau(t) [v'(\xi)]^3$$

$$- 3n(n-1)(3n-1) h^2 k(t) \tau(t) v(\xi) v'(\xi) v''(\xi)$$

$$+ n(n-1)^2 h^2 k(t) \tau(t) v^2(\xi) v'''(\xi)$$

$$+ n(n-1)^2 h b(t) v^2(\xi) v'(\xi) = 0. \quad (41)$$

Substituting Eq. (17) into Eq. (41), and by the help of *Maple*, we get

$$\frac{1}{B} \left\{ \beta_{10} e^{10\xi} + \beta_9 e^{9\xi} + \beta_8 e^{8\xi} + \beta_7 e^{7\xi} + \beta_6 e^{6\xi} + \beta_5 e^{5\xi} + \beta_4 e^{4\xi} + \beta_3 e^{3\xi} + \beta_2 e^{2\xi} + \beta_1 e^\xi + \beta_0 \right\} = 0, \quad (42)$$

where

$$B = e^{5\xi} (b_1 e^\xi + b_0 + b_{-1} e^{-\xi})^6, \quad (43)$$

and  $\beta_n$  are coefficients of  $e^{n\xi}$ . Equating all the coefficients of  $e^{n\xi}$  to zero, we obtain a system of algebraic equations which can be solved by the *Maple*, and get the following cases of solutions

#### Case 1.

$$\begin{aligned} a_0 = 0, \quad a_1 = a_1, \quad a_{-1} = 0, \quad b_0 = b_0, \quad b_1 = 0, \quad b_{-1} = 0, \\ \tau(t) = -h a(t), \quad k(t) = \frac{(n-1)^2 b(t)}{4 h^2 n^2 a(t)}, \\ a(t) = a(t), \quad b(t) = b(t), \end{aligned} \quad (44)$$

In this case, the exact solution of Eq. (2) has the form:

$$u(\xi) = \left( \frac{a_1 e^\xi}{b_0} \right)^{\frac{-2}{n-1}}, \quad (45)$$

#### Case 2.

$$\begin{aligned} a_0 = a_0, \quad a_1 = 0, \quad a_{-1} = 0, \quad b_0 = 0, \quad b_1 = b_1, \quad b_{-1} = 0, \\ \tau(t) = -h a(t), \quad k(t) = \frac{(n-1)^2 b(t)}{4 h^2 n^2 a(t)}, \\ a(t) = a(t), \quad b(t) = b(t), \end{aligned} \quad (46)$$

In this case, the exact solution of Eq. (2) has the form:

$$u(\xi) = \left( \frac{a_0}{b_1 e^\xi} \right)^{\frac{-2}{n-1}}, \quad (47)$$

#### Case 3.

$$\begin{aligned} a_0 = a_0, \quad a_1 = 0, \quad a_{-1} = 0, \quad b_0 = 0, \quad b_1 = 0, \quad b_{-1} = b_{-1}, \\ \tau(t) = -h a(t), \quad k(t) = \frac{(n-1)^2 b(t)}{4 h^2 n^2 a(t)}, \\ a(t) = a(t), \quad b(t) = b(t), \end{aligned} \quad (48)$$

In this case, the exact solution of Eq. (2) has the form:

$$u(\xi) = \left( \frac{a_0 e^\xi}{b_{-1}} \right)^{\frac{-2}{n-1}}, \quad (49)$$

#### Case 4.

$$\begin{aligned} a_0 = 0, \quad a_1 = 0, \quad a_{-1} = a_{-1}, \quad b_0 = b_0, \quad b_1 = 0, \quad b_{-1} = 0, \\ \tau(t) = -h a(t), \quad k(t) = \frac{(n-1)^2 b(t)}{4 h^2 n^2 a(t)}, \\ a(t) = a(t), \quad b(t) = b(t), \end{aligned} \quad (50)$$

In this case, the exact solution of Eq. (2) has the form:

$$u(\xi) = \left( \frac{a_{-1} e^{-\xi}}{b_0} \right)^{\frac{-2}{n-1}}, \quad (51)$$

#### Case 5.

$$\begin{aligned} a_0 = 0, \quad a_1 = 0, \quad a_{-1} = a_{-1}, \quad b_0 = 0, \quad b_1 = b_1, \quad b_{-1} = 0, \\ \tau(t) = -h a(t), \quad k(t) = \frac{(n-1)^2 b(t)}{4 h^2 n^2 a(t)}, \\ a(t) = a(t), \quad b(t) = b(t), \end{aligned} \quad (52)$$

In this case, the exact solution of Eq. (2) has the form:

$$u(\xi) = \left( \frac{a_{-1} e^{-2\xi}}{b_1} \right)^{\frac{-2}{n-1}}, \quad (53)$$

#### Case 6.

$$\begin{aligned} a_0 = a_0, \quad a_1 = a_1, \quad a_{-1} = 0, \quad b_0 = b_0, \quad b_1 = 0, \quad b_{-1} = \frac{a_0 b_0}{a_1}, \\ \tau(t) = -h a(t), \quad k(t) = \frac{(n-1)^2 b(t)}{16 h^2 n^2 a(t)}, \\ a(t) = a(t), \quad b(t) = b(t), \end{aligned} \quad (54)$$

In this case, the exact solution of Eq. (2) has the form:

$$u(\xi) = \left[ \frac{a_1 (a_0 + a_1 e^\xi)}{b_0 (a_1 + a_0 e^{-\xi})} \right]^{\frac{-2}{n-1}}, \quad (55)$$

#### Case 7.

$$\begin{aligned} a_0 = a_0, \quad a_1 = 0, \quad a_{-1} = a_{-1}, \quad b_0 = b_0, \quad b_1 = \frac{a_0 b_0}{a_{-1}}, \quad b_{-1} = 0, \\ \tau(t) = -h a(t), \quad k(t) = \frac{(n-1)^2 b(t)}{4 h^2 n^2 a(t)}, \\ a(t) = a(t), \quad b(t) = b(t), \end{aligned} \quad (56)$$

In this case, the exact solution of Eq. (2) has the form:

$$u(\xi) = \left[ \frac{a_{-1} (a_0 + a_{-1} e^\xi)}{b_0 (a_{-1} + a_0 e^\xi)} \right]^{\frac{-2}{n-1}}, \quad (57)$$

where  $\xi$  in above cases 1-7 has the same form (36).

#### Case 8.

$$a_0 = a_0, \quad a_1 = 0, \quad a_{-1} = 0, \quad b_0 = 0, \quad b_1 = b_1, \quad b_{-1} = b_{-1},$$

$$\tau(t) = \frac{h a_0^2 (n-1)^2 a(t)}{-a_0^2 (n-1)^2 + 8h^2 n (n+1) b_1 b_{-1} k(t)},$$

$$a(t) = a(t), \quad b(t) = b(t),$$

$$k(t) = \frac{[-a_0^2 (n-1)^2 + 8h^2 n (n+1) b_1 b_{-1} k(t)] b(t)}{-4h^2 a_0^2 n^2 a(t)}. \quad (58)$$

In this case, the exact solution of Eq. (2) has the form:

$$u(\xi) = \left[ \frac{a_0}{b_1 e^\xi + b_{-1} e^{-\xi}} \right]^{\frac{-2}{n-1}}, \quad (59)$$

where  $\xi$  in the above cases 1-8 has the form

$$\xi = h \left[ x - \int \frac{a_0^2 (n-1)^2 a(t)}{a_0^2 (n-1)^2 - 8h^2 n (n+1) b_1 b_{-1} k(t)} dt \right]. \quad (60)$$

**Remark:** All solutions of this article have been checked with *Maple* by putting them back into the original equations (1) and (2).

#### 4. Conclusions

In this article, the modified exp-function method was applied in order to find the exact solutions of the generalized K(n,n) and BBM equations with variable coefficients. The exp-function method is a very powerful and effective technique in finding the exact solutions for a wide range of problems. The solutions so obtained have also been verified to satisfy the original equation. This method is important because the solutions obtained can be applied to a wide range of problems in science and engineering.

#### References

- [1] El-Wakil, S. A. & Abdou, M. A. (2007). New exact traveling wave solutions using modified extended tanh-function method. *Chaos, Solitons and Fractals*, 31, 840-852.
- [2] Fan, E. (2000). Extended tanh-function method, and its applications to nonlinear equations. *Phys. Lett., A* 277, 212-218.

- [3] Wazwaz, A. M. (2007). The tanh-method for traveling wave solutions of nonlinear wave equations. *Appl. Math. Comput.*, 187, 1131-1142.
- [4] Zayed, E. M. E. & AbdelRahman, H. M. (2010). The extended tanh-method for finding traveling wave solutions of nonlinear PDEs. *Nonlinear Sci. Lett. A*, 1(2), 193-200.
- [5] Zayed, E. M. E. & Abdelaziz, M. A. M. (2010). The tanh-function method using a generalized wave transformation for nonlinear equations. *Int. J. Nonlinear Sci. Numer. Simula.*, 11, 595-601.
- [6] Malfliet, W. (1992). Solitary wave solutions of nonlinear wave equations. *Am. J. Phys.*, 60, 650-654.
- [7] Malfliet, W. & Hereman, W. (1996). The tanh-method part I. Exact solutions of nonlinear evolution and wave equations. *Phys. Scripta.*, 54, 563-568.
- [8] Wazwaz, A. M. (2004). The tanh-method for traveling wave solutions of nonlinear equations. *Appl. Math. Comput.*, 154, 713-723.
- [9] Yaghoobi Moghaddam, M., Asgari, A. & Yazdani, H. (2009). Exact travelling wave solutions for the generalized nonlinear Schrödinger (GNLS) equation with a source by Extended tanh-coth, sine-cosine and Exp-Function methods. *Appl. Math. Comput.*, 210, 422-435.
- [10] Wazwaz, A. M. (2004). A sine-cosine method for handling nonlinear wave equations. *Math. Comput. Model.*, 40, 499-508.
- [11] Yang, Y., Tao Z. L. & Austin, R. F. (2010). Solutions of the generalized KdV equation with time-dependent damping and dispersion. *Appl. Math. Comput.*, 216, 1029-1035.
- [12] Fan, E. & Zhang, H. (1998). A note on the homogeneous balance method. *Phys. Lett., A* 246, 403-406.
- [13] Wang, M. L. (1996). Exact solutions of a compound Kdv-Burgers equations. *Phys. Lett., A* 213, 279-287.
- [14] He, J. H. & Wu, X. H. (2006). Exp-function method for nonlinear wave equations. *Chaos, Solitons and Fractals*, 30, 700-708.
- [15] He, J. H. & Abdou, M. A. (2007). New periodic solutions for nonlinear evolution equations using Exp-function method. *Chaos, Solitons and Fractals*, 34, 1421-1429.
- [16] Zhang, S. (2008). Application of exp-function method to high dimensional evolution equation. *Chaos, Solitons and Fractals*, 38, 270-276.
- [17] Zhu, S. D. (2007). Exp-function method for the discrete mKdV lattice. *Int. J. Nonlinear Sci. Numer. Simula.*, 8, 465-469.
- [18] Dai, C. Q. & Zhang, J. F. (2006). Jacobian elliptic function method for nonlinear differential-difference equations. *Chaos, Solitons and Fractals*, 27, 1042-1047.
- [19] Fan, E. & Zhang, J. (2002). Applications of the Jacobi elliptic function method to special-type nonlinear equations. *Phys. Lett., A* 305, 383-392.
- [20] Liu, S., Fu, Z., Liu, S. & Zhao, Q. (2001). Jacobi elliptic function method and periodic wave solutions of nonlinear wave equations. *Phys. Lett., A* 289, 69-74.
- [21] Zhao, X. Q., Zhi, H. Y. & Zhang, H. Q. (2006). Improved Jacobi-function method with symbolic computation to construct new double-periodic

- solutions for the generalized Ito system. *Chaos, Solitons and Fractals*, 28, 112-116.
- [22] Zhang, J. L., Wang, M. L., Wang, Y. M. & Fang, Z. D. (2006). The improved F-expansion method and its applications. *Phys, Lett., A* 350, 103-109.
- [23] He, J. H. (2006). New interpretation of homotopy perturbation method. *Int. J. Mod. Phys., B* 20, 2561-2568.
- [24] He, J. H. (2005). Asymptology by homotopy perturbation method. *Int. J. Nonlinear Sci. Numer. Simul.*, 6, 207-208.
- [25] He, J. H. & Wu, X. H. (2006). Construction of solitary solutions and compacton like solution by variational iteration method. *Chaos, Solitons and Fractals*, 29, 108-113.
- [26] Ablowitz, M. J. & Segur, H. (1981). *Solitons and the inverse scattering transform*. Philadelphia, SIAM.
- [27] Hirota, R. (1980). *Direct method of finding exact solutions of nonlinear evolution equations*. In: Bullough R, Caudrey P, editors. *Bäcklund transformation*, Berlin, Springer.
- [28] Hirota, R. (2004). *The direct method in soliton theory*. Cambridge, Cambridge University Press.
- [29] Wazwaz, A. M. (2010). On multiple soliton solutions for coupled KdV-mKdV equation. *Nonlinear Sci. Lett., A*, 1(3), 289-296.
- [30] Lv, X., Lai, S. & Wu, Y. (2010). The physical structures of solutions for generalized K(n,n) and BBM equations with variable coefficients. *Mathematical and Computer Modelling*, 52, 781-790.
- [31] Wazwaz, A. M. (2006). Two reliable methods for solving variants of the KdV equation with compact and noncompact structures. *Chaos Solitons and Fractals*, 28, 454-462.
- [32] Benjamin T. B., Bona, J. L. & Mahony, J. J. (1972). Model equations for long waves in nonlinear dispersive systems. *Philos Trans R Soc London, Ser A*, 272, 47-78.